	Situation
	Good ecological status
	Poor ecological status
	Why?

	Water pH is 7
	
	
	

	Water pH is 2
	
	
	

	Water pH is 13
	
	
	

	River receiving discharge from agricultural areas
	
	
	

	River with low concentrations of nitrate
	
	
	

	River with low levels of dissolved oxygen
	
	
	

	River with high levels of dissolved oxygen
	
	
	

	River completely full of plants and algae
	
	
	

	River near a thermal power station
	
	
	

	River with low water temperature
	
	
	

	River with high water temperature
	
	
	


